
Order # 70328101 
70329101 
70330101

Use and Care GUide
sUrFaCe MOUnT KiT insTaLLaTiOn insTrUCTiOns

Part # BCB-24-sMK
BCB-22-sMK
BCB-14-sMK

 WarninG: To prevent wiring damage or abrasion, do not expose wiring to edges of 
sheet metal or other sharp objects.

DRYWALL MOUNTING
The fixture is suitable only for INDOOR SURFACE CEILING application. To mount on an insulated or uninsulated - sheetrock ceiling follow the steps below.

 WarninG: Carefully read and understand the information given in this manual before beginning the assembly and installation. Failure to do so could lead to electric shock, fire, or 
other injuries which could be hazardous or even fatal. • Ensure the electricity to the wires you are working on is shut off. Either remove the fuse or turn off the circuit breaker.

• Changes or modifications not expressly approved by the party responsible for compliance could void the user’s authority to operate the equipment. 
See website for Warranty, Troubleshooting or Care and Cleaning details at www.ETiSSL.com.

Questions, problems, missing parts? Call ETiSSL Customer Service 8 a.m. - 5 p.m., CST, Monday - Friday
1-855-ETI-SSLI (1-855-384-7754) www.ETiSSL.com

PAckAGE cONTENTS
Description Quantity 
Surface mount kit 1

Screw 8

Plastic anchor 10 or 14

Self-tapping screw 10 or 14

2x4 3.1Kgs 6.8lbs

1X4 2.5Kgs 5.5lbs

2X2 2.1Kgs 4.6lbs

Surface mount kit Self-tapping screwPlastic anchor

Screw

Ceiling

Surface 
Mount Kit

End

Screws(2)

ConnectSlide

Fixture

Surface 
Mount Kit

Grid Clip(4)

Splice Box

Screws(2)

1  Connect power supply. Connect the junction box (by others) wire through the 
center access hole of SMK (Surface Mount Kit) as shown in figure.

3  Connect wiring of junction box to driver leads from Splice Box.

5  Replace end cap to SMK and secure with (2) 8-32 Screws.

2  Center the SMK to ceiling over junction box (by others). Secure the SMK to ceiling 
with appropriate mounting hardware suitable for the mounting surface as per NEC 
and local codes. Remove one end cap of the SMK by loosening (2) 8-32 Screws as 
shown in figure.

4  Slide the Fixture into the SMK by following directional arrow.

 nOTe: Keep your receipt and these instructions for proof of purchase. Read carefully before installing fixture. Retain these instructions for future reference. The fixtures must be 
wired in accordance with the national electrical code and all applicable local codes. Proper grounding is required for safety. This product must be installed in accordance with the 
applicable installation code by a person familiar with the construction and operation of the product and the hazards involved. Make certain power is off before installing or maintaining 
fixture.

 WarninG: Shut off the power at the circuit breaker or fuse panel before removing the old fixture, ballast, or fluorescent tubes. Install SMK (Surface Mount Kit) & Fixture per local codes. 
Suitable for installation in Sheet Rock/ Plasterboard in both Insulated Ceilings and Non-Insulated Ceilings. Not for continuous row mounting. Surface Drywall kit to be independently supported 
to building structure according to NEC and local codes. Use Junction Box (not supplied) suitable for weight. 

If you are unfamiliar with electrical installations, we recommend you contact a qualified electrician to do the installation.

assemble the kit with the 8 screws provided



n° de command 
70328101 
70329101 
70330101

GUide d’UTiLisaTiOn eT d’enTreTien
insTrUCTiOns d’insTaLLaTiOn dU KiT de MOnTaGe en sUrFaCe

n° de pièce
 BCB-24-sMK
BCB-22-sMK
BCB-14-sMK

 aVerTisseMenT : Pour éviter d’endommager le câblage ou de l’abrasion, 
n’exposez pas le câblage aux bords de la tôle ou à d’autres objets pointus.

MONTAGE SUR cLOISON SÈcHE
Le luminaire convient uniquement à une application INTÉRIEURE SURFACE PLAFOND. Pour monter sur un plafond en tôle isolée ou non isolée, suivez les étapes ci-dessous.

QUINcAILLERIE INcLUSE
Description Quantité 
Kit de montage en surface 1

Vis 8

Cheville en plastique 10 or 14

Vis autotaraudeuse 10 or 14

2x4 3.1Kgs 6.8lbs

1X4 2.5Kgs 5.5lbs

2X2 2.1Kgs 4.6lbs

Kit de montage en surface Vis autotaraudeuseCheville en plastique

Vis

Plafond

Trousse de montage 
en surface

Embout

Vis(2)

ConnecterGlisser

luminaire

Trousse de 
montage en 
surface

Clip de grille(4)

Boîte d’épissure

Vis(2)

1 Connectez l’alimentation. Connectez le fil de la boîte de jonction (fourni par 
d’autres) à travers le trou d’accès central du kit de montage en surface, comme 
indiqué sur la figure ci-dessous.

3  Connectez le câblage de la boîte de jonction aux conducteurs du pilote de la 
boîte d’épissure.

5  Replacez le capuchon d’extrémité sur le kit de montage en surface et fixez-
le avec (2) vis 8-32.

2  Centrez le kit de montage en surface au plafond sur la boîte de jonction (fournie par 
d’autres). Fixez le kit au plafond avec le matériel de montage approprié adapté à la 
surface de montage conformément aux codes NEC et locaux. Retirez un embout du 
kit en desserrant (2) vis 8-32 comme indiqué sur la figure.

4  Faites glisser le luminaire dans le kit de montage en surface en suivant la flèche 
directionnelle.

 reMarQUe: Conservez votre reçu et ces instructions comme preuve d’achat. Lisez attentivement avant d’installer le luminaire. Conservez ces instructions pour référence future. 
Les luminaires doivent être câblés conformément au code national de l’électricité et à tous les codes locaux applicables. Une mise à la terre appropriée est requise pour la sécurité. 
Ce produit doit être installé conformément au code d’installation applicable par une personne familière avec la construction et le fonctionnement du produit et les risques encourus. 
Assurez-vous que l’alimentation est coupée avant d’installer ou d’entretenir le luminaire.

 aVerTisseMenT: Coupez l’alimentation au disjoncteur ou au panneau de fusibles avant de retirer l’ancien luminaire, le ballast ou les tubes fluorescents. Installez le SMK (kit de montage 
en surface) et le luminaire conformément aux codes locaux. Convient pour une installation dans des plaques de plâtre/plâtre dans des plafonds isolés et des plafonds non isolés. Pas pour le 
montage en rangée continue. Le kit de cloison sèche de surface doit être supporté indépendamment de la structure du bâtiment conformément aux codes NEC et locaux. Utilisez une boîte de 
jonction (non fournie) adaptée au poids.

Si vous n’êtes pas familier avec les installations électriques, nous vous recommandons de contacter un électricien qualifié pour effectuer l’installation.

assembler le kit avec les 8 vis fournies

 aVerTisseMenT: Lisez et comprenez bien les renseignements fournis dans ce manuel avant de procéder à l’assemblage et à l’installation. Un manque à le faire pourrait mener 
à un risque de choc électrique, d’incendie ou de blessures qui pourraient être graves, voire même mortelles.• Assurez-vous de couper le courant au circuit sur lequel vous travaillerez. 
Enlevez le fusible ou coupez le disjoncteur

• Tout changement ou toute modification non expressément approuvée par la partie responsable de la conformité peut rendre nulle l’autorisation de l’utilisateur d’utiliser l’équipement
Les renseignements sur la garantie, le dépannage, l’entretien et le nettoyage se trouvent sur le site Web : www.ETiSSL.com.

Questions, difficultés, pièces manquantes? Téléphonez au service à la clientèle de ETiSSL
8 h - 17 h, HNC, du lundi au vendredi.

1-855-ETI-SSLI (1-855-384-7754) www.ETiSSL.com



Pedido # 70328101 
70329101 
70330101

GUÍa de UsO Y CUidadO
insTrUCCiOnes de insTaLaCiÓn deL KiT de MOnTaJe en sUPerFiCie

Parte # BCB-24-sMK
BCB-22-sMK
BCB-14-sMK

 adVerTenCia: Para evitar daños o abrasiones en el cableado, no exponga el 
cableado a bordes de láminas de metal u otros objetos afilados.

MONTAJE EN PARED DE YESO
La luminaria es adecuada solo para aplicaciones en SUPERFICIE INTERIOR DEL TECHO. Para montar en un techo de yeso aislado o sin aislamiento, siga los pasos a continuación.

PAckAGE MATERIALES INcLUIDOS
Descripción cantidad 
Kit de montaje en superficie 1

Tornillo 8

Anclaje de plástico 10 or 14

Tornillo penetrante 10 or 14

2x4 3.1Kgs 6.8lbs

1X4 2.5Kgs 5.5lbs

2X2 2.1Kgs 4.6lbs

Kit de montaje en superficie Tornillo penetranteAnclaje de 
plástico

Tornillo

Techo

Kit de montaje en 
superficie

Tapa final

Tornillos(2)

ConectarDeslizar

Accesorio

Kit de montaje 
en superficie

Clip de rejilla(4)

caja de empalme

Tornillos(2)

1  Conecte la fuente de alimentación. Conecte el cable de la caja de conexiones (por 
otros) a través del orificio de acceso central del kit de montaje en superficie como 
se muestra en la figura.

3  Conecte el cableado de la caja de conexiones a los cables del controlador 
desde la caja de empalmes.

5  Vuelva a colocar la tapa del extremo en el kit de montaje en superficie y 
asegúrelo con (2) tornillos 8-32.

2  Centre el kit de montaje en superficie en el techo sobre la caja de empalmes (por 
terceros). Fije el kit de montaje en superficie al techo con los accesorios de montaje 
adecuados para la superficie de montaje según NEC y los códigos locales. Retire una 
tapa de extremo del kit de montaje en superficie aflojando (2) tornillos 8-32 como se 
muestra en la figura.

4  Deslice el accesorio en el kit de montaje en superficie siguiendo la flecha 
direccional.

 nOTa: Guarde su recibo y estas instrucciones como comprobante de compra. Lea atentamente antes de instalar el accesorio. Conserve estas instrucciones para referencia futura. 
Los accesorios deben estar cableados de acuerdo con el código eléctrico nacional y todos los códigos locales aplicables. Se requiere una conexión a tierra adecuada por seguridad. 
Este producto debe ser instalado de acuerdo con el código de instalación aplicable por una persona familiarizada con la construcción y operación del producto y los peligros 
involucrados. Asegúrese de que la energía esté apagada antes de instalar o mantener el dispositivo.

 adVerTenCia: Desconecte la alimentación en el disyuntor o en el panel de fusibles antes de retirar la lámpara vieja, el balasto o los tubos fluorescentes. Instale el SMK (Kit de montaje 
en superficie) y el accesorio según los códigos locales. Adecuado para su instalación en placas de yeso/placa de yeso tanto en techos con aislamiento como en techos sin aislamiento. No 
para montaje en fila continua. El kit de paneles de yeso de superficie se debe apoyar de forma independiente en la estructura del edificio de acuerdo con NEC y los códigos locales. Utilice 
una caja de conexiones (no incluida) adecuada para el peso.

Si no está familiarizado con las instalaciones eléctricas, le recomendamos que se comunique con un electricista calificado para que realice la instalación.

montar el kit con los 8 tornillos suministrados

 adVerTenCia: Lea cuidadosamente y comprenda la información incluida en este manual antes de comenzar el armado e instalación. No hacerlo puede provocar descarga 
eléctrica, incendio, u otras lesiones que pueden ser peligrosas o incluso fatales. • Asegúrese de cortar el suministro eléctrico en los cables con los que trabajará. Extraiga los fusibles 
o apague el cortacircuitos.

• Cambios o modificaciones no aprobadasen forma expresa por la parte responsable del cumplimiento puede invalidar la autoridad del usuario de manejar el equipo. 
Las informaciones sobre la garantía, la solución de problemas, el mantenimiento y la limpieza se puede encontrar en el sitio web: www.ETiSSL.com.

¿Preguntas, problemas, piezas faltantes? Llame al Centro de Atención al Cliente de ETi en el horario de
8 a.m. - 5 p.m., HSC, de lunes a viernes.

1-855-ETI-SSLI (1-855-384-7754) www.ETiSSL.com


